4. Write the letter for each expression in the box under the category that correctly
describes the number to which the-expression simplifies.

F Show worL  on

Seperate Paves ¥ Weike e \erer
Simplifies to a Simplifies to a
A 16 + (-2) Negative Number Positive Number
B. 9 x (-4 A-’B,E, C, V.
C. —21 + (-7
; 4
D. -5 x (-9)
E. 24 +3
F.o—11x2

5. Mariam says that.the value of +(~1) is always equal to the value of — | x, for
all values of n m hether Mariam is correct or incorrect.

“Qhow On exXample

n: (=) = -\xn
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